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A REWEDY
N HEDE 2HEH
el ZI=XNE 2 (FXE SE35H) (&)
. SfE|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
308 XXt S0 A 50,984 50,334 650
10 JIEtRES 50,984 50,334 650
ONE - BYMNAST BYEIE LA M8
64,650, 000& *50% 32,325
OLH2E BYENT 24
14,846, 3703 *50% 7,424
OIS BYFHEY Ay a
12,600, 000& *50%*50% 3,150
OSFUZ ZYENET 24
16, 168, 190& *50% 8,085
401 Al Bl & 28I 80,000 1,070,000 A 990,000
01 A& HI 80,000 1,070,000 A 990,000
SEFUE ANEE | 20,000, 000& 20,000
Ot THEM 60,000, 000& 60,000
F=HA HEFIHE 29 366,877 363,448 3,429
201 €82l 17,333 17,265 68
01 At 22l 17,333 17,265 68
OFAHIN HEFIE 2HES 9,650
OFLH & K| &2 75,0003 204 1,500
e 2tE 150,000& *3H 450
[ 70,000& 104 700
g OXAM 2 68 5,000,000& 5,000
=N 20,0002 1004 2,000
OdEIHE DoCald ArZE =
4,000 #1500 A« 12& 720
OuEsENE =2 515,736,000& *45%*3% 6,963
307 gl2tol & 345,544 342,183 3,361
05 BIZHRI & 3 345,544 342,183 3,361
OFNX HBENE B2l +48
345,544,000 345,544
308 XX EHH SOl A 4,000 4,000 0
07 XX SH2ARES 4,000 4,000 0
OZEFANZEANLE SERANES BES
4,000,000& 4,000
WEEA N (FXE SEalH) 2,288,103 1,201,201 1,086,902
NS#EY et 21,305 121,250 299,945
201 et 4,505 5,050 A 545
02 =224l 4,505 5,050 A 545
OgRE z2el 4,505
SE@= 224, 7102 104 225
RPN 79,840& »1CH 80
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2N
X ZH -
L= B

el

Y. B9 (3H) - HEAMY - BES O At 0t il 2
PNE=E=DN! 350,000& *1CHx12& 4,200
204 &R = A H| 16,800 16,200 600
03 SEHLRAEHI 16,800 16,200 600
ool sl 50,0003 28H x12& 16,800
oleEItHer 29 200,543 136, 134 64,409
201 Bt A | 119,243 106, 134 13,109
01 AFR2 2t 2l Yl 43,835 30,054 13,781
OF - 8X% /etxse 82 19,200
AMS KA JE 75,000& *80&F A 6,000
T2EH EY 220,000& *4 44 x153] 13,200
ORol =4=3tH et |Al 24,635
2006 Al K= (200) 60,660,000& *5% 3,033
2007E Al XH= (504) 142,279, 000& *5% 7,114
2007 Al X SFETHE (30TH)
78,150,000& *5% 3,908
2007 Al X< (30H) 80,071,000& *5% 4,004
2009 Al XH= (404) 110,000, 000& *4% 4,400
20118 Al XS (200) 54,390, 000& *4% 2,176
02 3524l 75,408 76,080 NBT2
ORol &30 et Mz 140,000& = 12& 1,680
OFAHXCSE SUHLAIAE HUZ A AIZ
S(NSEEgaEY) 30,000& *13| & x12& 360
OCTVS I & & (E-PON)MHIA OlEE
176,000 #2435 & «12& 50,688
F - M ABLAIS MESEXA &8s 2EHZ(
AM) 2703 =7 ,00000 x 12& 22,680
401 Al HI L 2T 81,300 0 81,300
01 A& HI 81,300 0 81,300
OLEDH™ 2 Tt 3,100, 000& =3CH 9,300
OFHEIRASEI Nt s (MM EZs
) 18,000, 000& =4 LCH 72,000
DNENTALES Hy| 85,000 68,000 17,000
401 Al HIL 201 85,000 68,000 17,000
01 Al &bl 85,000 68,000 17,000
O4A2 NEANES &b 40,000,000 40,000
OHASZE HUI 43,500
HASZE &X 10,000, 000& 44 A 40,000
HASZE B 700,000& *5JH 2~ 3,500
OXNEHAAEE HHI| 1,500
NEHAEE B 500, 000& *3JH 2~ 1,500
=8 = -3 &5 468,840 388,780 80,060
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2N DEHHY
MM, dADNE X4
Sl DEHF N (EINTY SE3A) (ol @)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
101 @121l 355,784 312,885 42,899
04 JI2ZtH22XNHEE =+ 355,784 312,885 42,899
OEYFEXN o5 JREX 152,974
ol 21| 63,330& *7H 250 110,828
=Xt 63,330 7 x52 23,053
- AXt 63,3303 *7Hx12 5,320
- RUAZEE 2232 139,201,000 *4 .5% 6,265
- NEEE 232 139,201,000& *1.5% 2,089
MATHEE 2E2 139,201,000& *0.7% 975
=0AHAUAEE 23
A 139,201,000& *2.995% 4,170
SOOI RABE BEYZ
4,170,000& *6.55% 274
OR0 ch=31et 89 ZREX(UESAEA) 65,561
ol 24 H| 63,330& *3Y 250 47,498
- =Xt 63,3303 3% x52 9,880
- A Xt 63,330& *3H x 12 2,280
- 20UAZEE 2232 59,658,000 %4 .5% 2,685
- NEEE 22 59,658, 000& *1.5% 895
SMTHEE RE2 59,658,000 *0.7% 418
=0A0288 232 59,658,000 *2.995% 1,787
COMIQRYEE B2
1,787,000& *6.55% 118
O2Y = - AXNEANAE &0 106,049
- o1 HI 22,4003 * 18 250 100,800
ATHEE 2E2 100,800,000& *3.6% 3,629
ol =l 90,000& x18Y¥ 1,620
OFXEMNM =220 31,200
= 15,0003 x20H 74 22,200
CtOH = 15,000& x20 »30! 9,000
201 Yet2 | 70,396 61,99 8,400
01 AFR2 2t 2l Yl 24,772 21,112 3,660
OFxsxs Z20E M 80& x10,0000H 800
Ol 281 & HQ HAXE SEAEH A
eSS 80& x10,0000H 800
O=2Y = -3x &5 g8 8,100
Ch== OHLHE X & M & 200, 000& *30H A 6,000
S0 M& 70,0003 *30H & 2,100
O3 1= 3,360
s= 140,000& =144 1,960
ot= 100,000& *14H 1,400
OHxa 24 9,912
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SA: DEHFY
HH: M7
=

Eel: nsEd N (=X SE23A) (&)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
dEgeA 7,0003 x4 H«22 « 12 7,392
EQUA U AW Suos
7,000 3 *4H 00 2,520
OHEZERYA UIla 422 100,000& =128 1,200
OH=d Zady A 100,000& 64 600
02 =24l 45,624 40,884 4,740
OFXNHEE RUASA(TRS) Ol8=
50,000 =10CH =12 6,000
o8 RHI| |1 600,000 «10CH *9% 540
OFFXHE SNAYALY SUE
250,000 = 12& 3,000
OFFIs 2ALHANAE RAE+
380,000 x12& 4,560
OFFAE SRANLAAL REAAEZ (XHE)
44,0003 «3CH 12 1,584
OHt=sxE 2e| 29,940
g2E8= 800,000 *3CH 2,400
INE=PNY| 60,0003 *3CH 180
SINERES 60,0003 *3CH +23] 360
PE=ESON| 750,000 «3CH =128 27,000
202 oddl 5,280 10,560 N5,280
01 = LH o4 1l 5,280 10,560 25,280
= 8x JIsH=s 10,0003 x4H 6L 123 2,880
OFR dA & d#sdE IsXE
10,0003 x3H x5 123 1,800
OZYE st=XsA & HAMHA OFAFXHES
10,000& *15H x4 3] 600
203 YR =&t 2,000 2,000 0
03 A FA AR ZAY| 2,000 2,000 0
O FHERA & A3 2,000,000 2,000
301 gt 4= 1,680 839 841
1MIIEBELSS 1,680 0 1,680
Ounstla 8Nt 24 30,000& 56X 1,680
401 Al BIZ 201 8] 5,500 0 5,500
01 A& HI 5,500 0 5,500
O0lsE HsXeE SSAIA"” 0l &X
5,500,000& = 1CH 5,500
405 RHoHE S HI 28,200 500 27,700
01 AL EFSFHSHI 28,200 500 27,700
OEh=xted WM (AEFA) 25,000,000 «1CH 25,000
OZglH7g(nsasa) 1,000,000& = 1CH 1,000
OdXgotolet2e 150, 000 & 4 CH 600
Oz DINAMSEI 7L 1,600,000& = 1CH 1,600
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SN DEHEDY
Bu: HADE 2HEH
Eel: nsEd N (=X SE23A) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
=28 = X &X 30,000 30,000 0
401 Al HIZ 201 Y] 30,000 30,000 0
01 A& HI 30,000 30,000 0
OedY =X ¢XAH4 30,000, 000& 30,000
= - EXelE BEHE ud 290,158 271,173 18,985
101 124l 109,267 99,248 10,019
4 D12t Z2XEES 109,267 99,248 10,019
OMEAMZEel dREX 109,267
Bl 63,330& x5 250 79,163
- =X 63,3303 «5H x52 16,466
- Xt 63,3303 «5H x12 3,800
- UAZIEE R2E3 99,429,000& *4.5% 4,475
- UEEE RE3 99,429,000& *1.5% 1,492
CATHEE 223 99,429,000& *0.7% 697
ICALEE 23 99,429,000& *2.995% 2,978
LEIIRLEE RE3
2,978,000& *6.55% 196
201 Lt 2| 172,791 163,825 8,966
01 At 22l 44,710 44,710 0
O -&X fe s 1 28,180
DXM HZ 85,0003 60t A 5,100
YFSAM M 85,000 »40%F A 3,400
M=% M 85,0003 180 A 15,300
SREE(AM) S =X
3,000& »300A 900
Z2H EU 190,000& =124 2,280
T2y &F 200, 0002 =64 1,200
O&XM=&F MHIA 16,530
X0l 2 2 722l Al A (EGS-PRO)
7,920,000& 7,920
AE2FB02Z(0H0ICIFI0EBESEE)
5,280,000 5,280
IS LE FHHH HE0E=S
3,330,000& 3,330
02 =224l 128,081 119,115 8,966
os®EE= 128,081
DXM(SII) 1,930& +31,2000H 60,216
EEH(SAM) 2703 *40,0000H 10,800
CURESIM(EF) 300& +25,0000H 7,500
CHESESE(HAM) 2703 *30,0000H x63! 48,600
A 2R (0D) SXNM(SII)
1,930& 50004 965
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2N
X ZH -
L= B

el

SA B ER(EN) - AR - BES of & o4 San HIDZ2
202 O 4l 3,600 3,600 0
01 ZLHOHI 3,600 3,600 0

OSAMNE =AZS 20,0003 «3H x5 123 3,600
303 L& =3 4,500 4,500 0
01 &= 4,500 4,500 0
OMEM = L= 450,000,000 * 1% 4,500

ASI SEHI T EX 53,911 75,514 A 21,603
101 12 8] 43,709 41,289 2,420
04 JIZtNZ22XNSE+ 43,709 41,289 2,420

OXsxt SEHSE X YREX 43,709
el 24 | 63,330 x2H 250 31,665
=Xt 63,330 «2H x52& 6,587
SN, 63,3303 x2H x12& 1,520
=028 = 39,772,000& *4.5% 1,790
NELE FE= 39,772,000& *1.5% 597
ATHESE BEES 39,772,000& *0.7% 279
ZpALEE 2E3
39,772,000% *2.995% 1,192
LoOFIIRSdESE FEa
1,192,000 *6.55% 79
201 fet23E | 9,122 8,145 977
01 At 22l I 996 1,266 A270
OXNSx SEHSE X 253 =4
7,0003*3& 3L 123 756
Ols#disx § #¢ 150,000& 1M 150
O HHZ=E FE 300 *300H 90
02 s3=9Hl 8,126 6,879 1,247
OADIEE 0128 55,000& «1CH+12& 660
OgeE g2 5,150
2= 500,000& »1CH 500
S XAl 350,000& = 1CH 350
BINEREES 50,0002 »1CH 23] 100
- HE =X 350,000 ~1CH~ 122 4,200
oR#Ex 2,316
AU D=2 (SI) 1,930& *1,20024 2,316
202 o4 4l 1,080 1,080 0
01 S LHO I 1,080 1,080 0
OXNsit SSE¥sE g1 ¢ 2d
10,0002 «3H 32 *12& 1,080

ol g1 gl 1,138,346 110,350 1,027,996

801 ol Bl Hl 1,138,346 110,350 1,027,996




2N DEHHY
MM MANE 23tx4
Sl DEHF N (EINTY SE3A) (ol @)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
01 BtailHl bl 1,138,346 110,350 1,027,996
Ouoldl gl 1,138,346,000& 1,138,346
HESHAL (WSHY W) 1,574,894 1,432,465 142,429
QlEASXAY|(FXE EYE3IAH) 1,468,926 1,329,757 139, 169
ol 2AH| 1,468,926 1,329,757 139, 169
101 @121l 1,420,686 1,285,417 135,269
01 2= 1,420,686 1,285,417 135,269
OPIE=S=: 974,846
= 4,055,600 x1H x12& 48,668
= 3,381, 100& x11H x12& 446,306
= 2,817, 100& x11H x 128 371,858
= 1,893,300& x4 H »12& 90,879
- 93 1,427 ,900& x1H ~12& 17,135
Ozssla 402 81,237
dz24 974,842,800 x1/12%100% 81,237
OAZ2te 2222 102,371
- 53 11,5913 *1H *32A| 2t 12 4,451
- 62 9,886& x11H x32A| 2tx12& 41,759
= 8,930 *8H *32A| 2t x12& 27,433
- 82 8,017& *3H x32A| 2t 128 9,236
- 92 7,247 «»1H x32A| 2t x12& 2,783
CTB(FEANSERY)
8,930& *3H *40A| 2tx12& 12,860
82 (Z=EXCER4)
8,017& *1H *40A| 2tx12& 3,849
OS2 (FTEHAI L SHetd FXCHS)
62,000 x4 x30 7,440
(OFSRLES= 78,695
s< 19,920
- BH < Xt 40,0003 x20H x12& 9,600
- JIEF 20,000& *40H x12& 9,600
- AITHOI A Jbat2 30,0003 x2H x12& 720
NRE RIS 8,852
-Asstu 442 6003 x5H 43| 8,852
HI2LGI2 31,440
- 25E 0| & 130,000& x11H x12& 17,160
- 204 0l & 110,000& x7H x12& 9,240
- 15 0] & 80,000& »2H x 128 1,920
- 1048 0l & 60,000& x1H x12& 720
- 5 0] & 50,000& x4H x12& 2,400
R3S ¢ 974,842,800 x4 . 1%*1/3 13,323
JlsdsE2sY 1,920
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2 LS#HFED
M HY2IZH(nsdF )
CHol ol R HHI(RXY SEEH) (ciol@R)
A B O9(SA) - NRANY - BES il 2
-6,72 30,0003 «4H 12 1,440
- 8,92 20,0002 «2H « 128 480
J=38sY Itdt= 20,0002 «6H « 128 1,440
Qagesg 30,000 «5H 128 1,800
OZFHZ A 130,000 x28H «12& 43,680
OZZF Il 974,842,800% *1/12x120% 97,485
OHItE &l 974,842,800 *86%+*15/360 34,932
204 MR AH| 48,240 44,340 3,900
02 22 =4l 48,240 44,340 3,900
O& a2 Xl 48,240
B T= 250,000& x1H «12& 3,000
6= 155,000& x11H 128 20,460
a= 140,000& x 1@« 128 18,480
8,92 105,000 x5 x12& 6,300
230 (=XE SE3H) 105,968 102,708 3,260
Jl= 3 105,968 102,708 3,260
201 et 19,488 19,488 0
01 At 22l 19,488 19,488 0
ORN2E=EHl 10,080, 000& 10,080
OJlege=d Sl 9,408,000 9,408
202 o4dl 80,640 73,920 6,720
01 = LH 4 Hi 80,640 73,920 6,720
OJlz2ge==3 0t 240,000 x28H «12& 80,640
203 YR =2l 4,200 4,200 0
04 EA2IYRFEH| 4,200 4,200 0
ORN2EYRF=AHI 4,200,000 4,200
204 AR HH| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OXMZ LR FH| 100,000 x1H «12& 1,200
405 TtabF S 440 3,900 A 3,460
01 et EZFH S 440 3,900 A 3,460
OZdZegd WA 440,000& = 1CH 440




